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public class SimpleCalc

{
private double first;
private char operator;
private double second;

public SimpleCalc (double numl, char op,double num?2)
{

this.first=numl;

this.operator=op;

this.second=num2;

}

public double getFirst ()
{

return this.first;

}

public double getSecond()
{

return this.second;

}

public char getOperator()
{

return this.operator;

}

public double solution()
{
double result;
if (this.operator=="+")
result=this.first+this.second;
else
if (this.operator=='-")
result=this.first-this.second;

else
if (this.operator=='*")
result=this.first*this.second;
else

if (this.second!=0)
result=this.first/this.second;
else

{

System.out.println("Division by zero");
result=-1;

}

return result;
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public String toString()
{

return ""+this.first+this.operator+this.second+" = ";
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public class Main
{
public static void main(String[] args)
{
double answer;
SimpleCalc targill = new SimpleCalc (5,'+',6);
answer=targill.solution();
System.out.println(targill.toString()+ answer);
SimpleCalc targil2 = new SimpleCalc (5,'/',2);
answer=targil2.solution();
System.out.println(targil2.toString()+ answer);
SimpleCalc targil3 = new SimpleCalc (5,'/',0);
answer=targil3.solution();

System.out.println(targil3.toString()+ answer);
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